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General Instructions :

(1) Please read the instructions carefully.

(it)  This question paper is divided into three sections, viz. — Section A,
Section B and Section C.

(iti) Section A is of 5 marks and has 6 questions on Employability Skills.

(a)  Question number 1 to 4 are one mark questions. Attempt any three
questions.

(b)  Question number 5 and 6 are two marks questions. Attempt any
one question.

(iv) Section B is of 17 marks and has 16 questions on Subject Specific Skills.

(a)  Question number 7 to 13 are one mark questions. Attempt any five
questions.

(b)  Question number 14 to 18 are two marks questions. Attempt any
three questions.

(c) Question number 19 to 22 are three marks questions. Attempt any
two questions.

(v)  Section C is of 8 marks and has 3 Competency-Based Questions.

Question number 23 to 25 are four marks questions. Attempt any
two questions.

(vi) Do as per the instructions given in the respective sections.

(vii) Marks allotted are mentioned against each section/question.

SECTION A

(Employability Skills) (3+2=5 marks)
Answer any 3 questions out of the given 4 questions. 3x1=3
1. What is a business opportunity ? 1
2. Define ecosystem. 1
3. Name any one barrier to becoming an entrepreneur. 1
4. Write the full form of ITUC. 1
Answer any 1 question out of the given 2 questions. I1x2=2
5. Explain the first two steps in the process of creativity. 2
6. Explain any two roles of ‘green jobs’. 2
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SECTION B
(Subject Specific Skills) (5+6+6=17 marks)
Answer any 5 questions out of the given 7 questions. 5x1=5
7. The main function of accounting is to maintain complete and systematic
record of transactions. 1
8. Current assets get converted to cash in a period of . 1
9. Creditors and banks are examples of users of accounting information and
are known as users. 1
10. Give the rule of double entry for Personal Account. 1
11. “Do not anticipate any profit but provide for all losses.” The statement
justifies the concept. 1
12. Give the full form of FIFO. 1
13. Uncertainty in demand for inventory as well as in lead time creates the
need for a safety stock. (True/False) 1
Answer any 3 questions out of the given 5 questions. 3x2=6
14. Give any two characteristics of accounting. 2
15. Explain subsidiary books. 2
16. Explain any two systems of accounting. 2
17. Give any two differences between book-keeping and accounting. 2
18. Explain any one method of inventory recording. 2
Answer any 2 questions out of the given 4 questions. 2x3=6
19. Explain various types of ‘Deposit Accounts’. 3
20. Give three causes for difference in cash book balance and pass book
balance. 3
21. State any three advantages of ‘Bank Reconciliation Statement’. 3
22. Explain any two objectives of effective inventory management system. 3
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SECTION C
(Competency-Based Questions) (2x4=8 marks)

Answer any 2 questions out of the given 3 questions. 2x4=8

23.

24.

25.

325

In a supermarket there was a heavy rush at the cash counter. Customers
were becoming impatient for standing in a long queue. Some customers
were even leaving the counter without purchasing. They were arguing
with the staff for early billing.

Based on the case study given above, answer the following questions : 242
(a)  Mention any two probable reasons for the above problem.
(b) Mention any two corrective measures to overcome the above

situation.

Laxmi Store is a supermarket dealing in grocery items. The store is

maintaining its account in PNB Bank. All collections are deposited in the

bank on daily basis and all payments are made through the bank

account.

Based on the case study given above, answer the following questions : 242

(a)  State the type of account opened by Laxmi Store.

(b)  Mention any two advantages that accrue to the businessmen by
operating through the bank account.

ABC Ltd. is displaying and selling old stock before selling newly acquired

stock. 1+3

(a) Identify the inventory method followed by ABC Ltd. for issuing
inventory.

(b)  Explain the method identified in (a) above.
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